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I. Choose the correct answer from the following: 1x20=20

1. Data which are collected for the first time by the investigator himself are known as
a. Secondary data b. Primary data

c. Census d. None of these

2. A questionnaire is filled up by the
a. Investigator b. Respondent

c. Enumerator d. None of these

3. The difference between the upper limit and the lower limit of a class is known as
a. Class limits b. Class boundaries
c. Width of a class d. None of these

4. Using ogive we can determine a particular measure of central tendency, namely
a. Mean b. Median
c. Mode d. All of these

5. Mode is the value that has the greatest
a. Frequency b. Cumulative frequency

c. Percentile d. None of these




6. Geometric Mean is the root of the product of n observations.
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d. none of these

7.1f U=% then ¥ =9

|

a.
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b. ath u

d. None of these

8. The standard deviation is affected by the change of

4 a. Origin b. Scale
c. Both origin and scale d. None of these
9. Quartiles are measures of
a. Location b. Position
c. Botha) & b) d. None of these

" 10.In drawing histograms the class intervals should be

a. Continuous b. Discrete

c. Botha) 1& b) d. None of these
11. L x0=9

dx

a. 0 b. 1
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a. x’ b. log x

c.0 d. None of these

13. There are

a.25
c.75

% observations on the LHS of the third quartile of a frequency curve

b. 50
d. None of these
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14. .If A and B are mutually exclusive events then P(AUB) = ?
a) P(A) + P(B) b) P(A) - P(B)
c) P(A) + P(B) - P(AB) d) None of these

15. If A & B are two events associated to a random experiment such that AC B then

2)P(A)< P(B) b)P(A) = P(B) ¢)P(A)=P(B) d)None of these

16. A bag contains 2 red, 2white and 2 black balls. What is the probability of drawing 2blue
balls?

a) 1/6 b) 1
c)0 d) None of these
; * =1
17.1im, = =
a.0 b. 1
c.2 d. None of these
18. Operations research approach is :
a. Multi -disciplinary b. Scientific
c. Intitutive d. All of the above

19. The distinguishing feature of an LP model is the relationship among all variables is
a. Non linear b. Linear

c. Additive d. None of these

20. Constraints in an LP Model represent:
a. Limitations b. Requirements
c. Balancing limitations and requirements d. All of the above
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